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Step 1

Convert the age of the dogs to letters to solve for the instructions on how to solve the
rest of the puzzle.

BINARY TO DECIMAL THEN READ AS OCTAL

Step 2

Reading the attributes (i.e. House Trained, Spayed/Neutered, etc.) as binary convert
them to decimal values. Reading those values as octal convert them to letters

10000=16=N [ 10001 =17=0 | 10110=22=R
11000=24=T | 01010=10=H | 01101 =13=K
01011 =11 =1 01110=14=L |[01110=14=L
01011 = 11=1 10000= 16=N [ 00111 =07=G
10111=23=8 [ 11011 =27=W | 10001 =17=0
10110=22=R [ 11000=24=T | 01010=10=H
00001 =1=A 11000=24=T | 00011 =03=C
10001 =17=0 [ 10000= 16 =N | 00011 =03=C
10001 =17=0 [ 10110=22=R | 00100=04=D
00001 =1=A 11010=26=V | 00101 =5=E

NORTH KILLINGSWORTH AT CONCORD AVE

On that corner is Lucky Labrador Tap Room
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